Matryoshka Dolls

Logic Grid Puzzle
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Four matryoshki (Russian dolls) are nested inside each other. Each doll has one color and a specific amount of flowers painted

on it. Find out which one is the smallest matryoshka.

1. Oksana is in contact with the white doll only.

2. Anastasia is either painted in blue, or she is decorated with
5 flowers.

3. Karina and the medium doll have a total of 9 flowers. The
other two dolls are the yellow one and the small one.

4. The doll with 3 flowers is larger than Feona.

5. Feona has 1 less flower than the doll it is directly contained
in.

6. The red doll has 1 less flower than the yellow one.
7. The medium doll isn't red.
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